=
<

=
<

(0 @) (rad)
o(d cot(v))

1072 1072

3 -2 -1 0 I 2 3 098331 0 I 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit100PIXLLNO__RECO
—— DQM_V0001_R000000001__Global__mkFit100PIXLL__RECO

z
T

oo a,) (cm)

=
<

SICEWATL

1074

10;%||||!||||!||||!||||!||||!|||| Luo

=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

~ : :
2 I K D P S S
— . :
o ! :
o I S N S S
5 : ;
107" I
010 | I A |
217 :
r
1_— ----------- - 44 b bod -4 --n -
095351~ 0 T 2 3

TP n (PCA to beamline)



	Contents
	Page 1


